R#ETFAL #H BH#OIDHE o1

(1)

(4)

(4)

R

D ZI0 K. (SH6T, A10%, B#14, O 18 )
+2=1 (2) +3=2 (3) +3=5
+4=3 (5) +2=9 (6) ~6=28
D 0K, (SH6T, AM10%, B145, O 18 )
6~ =2 (2) 12+ =3 (3) 14—+ =7
15 = =3 (5) 25—+ =5 (6) 32—+ =8
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(4)

(4)

290X, (SH6H, AfK10%, B 145, C#H18%)
~4=1 (2) +3=3 (3) ~6=5
~4=7 (5) +3=9 (6) ~7=8
90 k. (SH6M, AM10%, BHF14F, O 18F )
6= =3 (2) 16—+ =4 (3) 15—+ =5
28 + =7 (5) 45+ =5 6) 72—+ =8
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RE7AN #H5 BHOIAODE 01 BEES

D ZI0 K. (SH6T, A10%, B#14, O 18 )

*HOEOWE TR-/h=/) & TR=/N"Ax/A) DARXA=Y

(1) 2 |-2=1 (2) 6 |-3=2 (3) 15 | =3=5
*H ) BOWED MIE O 2%x3=6 5%x3=15
1x2=2

(4) 12 | +4=3 (5) 18 | +2=09 (6) 48 | ~6=28
3x4=12 9x2=18 8 x 6 =48

R D 0K, (SH6T, AM10%, B145, O 18 )

*EODHEDOWE "R~/ =/"y & TR=/"hx/Pp) D4 RX=

(1) 6= 3|=2 (2) 12=|4|=3 (3) 14=|2|=7
*H D HOWENEIDE O 12+3=4 14=7=2
6-2=23

4 15=|5|=3 (5) 25=|5|=5 6) 32214 |=8
15-3=5 25+5=5 32+-8=14
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RD 290X, (SH6H, AfK10%, B 145, C#H18%)

(1) 4 | —4=1 (2) 9 |+-3=3 (3) 30 [ =6=5
1x4=14 3Ix3=9 5 x 6 =30

(4) 28 | =4=17 (5) 27 [ =3=09 (6) 56 | ~7=28
7 x4 =28 9x3=27 8 x 7 =56

RD 90 k. (SH6M, AM10%, BHF14F, O 18F )

(1) 6= 2|=3 (2) 16=|4|=4 3 15=|3]|=5
6-3=2 16=4=4 15-5=3

(4) 28=|4|=7 (5) 45=|9 [=5 6) 72=]19|=8
208+ 7=4 45+5=09 72+8=9
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